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*%x 1. A. She forgot her classes. B. She got up late than usual.
C. The bus was late. D. She took a wrong bus.
** 2. A, In a library. B. In a bookstore.
C. In a school. D. In a market.
*%3. A. The woman’s boss didn’t know she was late for work.
B. The woman’s boss asked why she wasn’t there on time.
C. The woman is usually punctual.
D. The woman’s boss wants her to keep a habit of being on time.
*% 4. A. Child and parent. B. Student and teacher.
C. Parent and teacher. D. Secretary and boss.
** 5. A.- He is willing to help her.
B. He’s too busy to help her.
C. He will help her after he finishes his assignment.
D. His car has broken down.
£ 6. A. 9:20. B. 8.40. C. 8:14. D. 8:54.
% 7. A. She has changed her mind.
B. She agrees with the man.
C. She thinks that the English teacher is strict, too.
D. She thinks that their English teacher has different opinions about them.
% 8. A. Five pounds. B. Ten pounds. C. Eight pounds. D. Eighteen pounds.
% 9. A. Seven meters. B. Nine meters. C. Two feet. D. Seven feet.
2% 10. A. He didn’t sleep well last night. B. He is going to play a game.
C. He is lying in bed. D. He was staying at a hotel near a lake.

B nmRmum

¥¥11. A. A book. B. A notebook. C. A car. D. A guide.

' e
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" Buy groceries.

Dark green. B. Light blue. C. Light yellow. D. Dark blue.
At 3.45. B. At4.15. C. At 4.30. D. At 4.45.
Because it has a larger yard. B. Because it is bigger.

Because it has a prettier yard. D. Because it has a prettier color.

The man and the woman will eat together.

_The man will eat at home.

The woman will eat at home.

Both of them will go home before the concert.

Better. B. Fine. C. Sick. D. Tired.
Take a break. B. Go to work.
Do the other problems. -D. Keep trying.

The modern art prints are too expensive.

He really appreciates the woman’s gift.

He hopes the woman likes modern art.

People who enjoy modern art would like the prints.
Golf and skating. B. Golf and tennis.
Skiing and tennis. D. Skiing and skating.
The man is talking with his boss. B. The man needs help.
The man is complaining. ~ D. The man likes his job.
The man is a porter.

This dialogue took place at a railway station.

CA 875 Flight will take off in half an hour.

The man wanted to help the woman to lift two pieces of luggage.
Because he was killed.

Because there was a fire in his home. 2
Because he was ill.

Because he was dismissed from the school. ‘
Don’t complete the form. B. Don’t waste time.
Take a form. There’s no hurry.
It was hard to hear. It wasn’t true.
It was surprising. It wasn’t very interesting.
She likes tea.

She doesn’t want a cup of tea now.

She has just had a cup of tea.
She doesn’t like tea at all.

Do nothing. Do housework.

Watch TV and read newspapers.

Travelling into space. A historical novel.

CPwogwowoO®EU

Whether they live in the same place. A science book.
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. They should obey the traffic rules.

. They should change the way to go to the supermarket.

. They shouldn’t go to the supermarket.

. They should change the place to do shopping.

. 15. B. 45. C. 20. D. 30.
. Most health food stores sell potatoes and eggs.

. The eggs are next to the potatoes.

. Potatoes are more nutritious ( EFFHJ) than eggs.

. The second course will be potatoes and eggs.

. The man will probably wait until summer to go to Mexico.

. The man will probably go to Canada for his vacation.

. The man will probably not go to Canada for his vacation.

. The man will probably stay at home during his vacation.

. It’s too strong. B. It’s just right.

. It isn’t strong enough. D. There ié too much sugar in it.
. Because the weather condition was bad.

A
B
C
D
A
A
B
C
D
A
B
C
D
A
C
A
B. Because there are not enough sportsmen.
C.
D
A
B
C
D
A
C
A
A
B
C
D
A
C
A
B

Because they are not well enough.

. Because no one knows the exact time.

. There were some interesting activities at the party.
. She enjoyed the music at the party.

. She enjoyed the food at the party.

. She met some interesting people at the party.

. He is at the Friendship Hotel. B. He is at dinner.
. He is at his office. D. No one knows.
$11. B. $ 6. C. $7. D. §$ 4.

. Marie is buying a present for Beity’s new baby.

. Marie will be coming soon.

. The man wants to see the new baby.

. Betty is going to give Marie a gift.

. He is all right now. B. He must have an operation at noon.
. He is having an operation now. D. He’s already had his operation.

. Because she has some other arrangement.

. Because she doesn’t like to do so.
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Because she’s busy with her work.

Because she has to take an exam.
At a travel agency.

In a hotel.

On Christmas Day.

On New Year’s Day.

A dentist. B. A shoemaker.
Two. B. Three.

By train. B. By air.
English. B. Chinese.

Working too hard.

Travelling a lot.

To bring a table to him.

To use the phone on the table.

The man should buy more biscuits.

The man is hungry.
In a repair shop.

In a department store.
Attend the lecture.

Stop at the grocery store.

o
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(3) A.

(1) A. In a university.

C. In a publishing house.

(2) A. Get a higher position.

C. Do something more interesting.

w o=

D.

Because he wanted to inform Mr. Andrews to have an interview.

. In a house agency.

. In a business company.
. Just before Saturday.

. On Saturday.

. A cook. D. A tailor.
. Four. D. Six.

. By subway. D. By ship.
. American. D. French.

B
D
B
D
C
c
C
C
B. Having too much fun.
D.
B
D
B
D
B
D
B
D

Getting a lot of exercise.

. To help prepare some food.
. To clean the table.
. The man has just had enough biscuits.

. She bought some biscuits an hour ago.
. At a hotel.

. At a bank.

. Offer the professor a drink.

. Go to the cafeteria.

i

In an oil company.
In a bank.

Get a higher pay.
All of the above.

B. Because he wanted Mr. Andrews to send his information to the new boss.

» FIES PR R R BT H KB 8, B 5, T
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C. Because he was interested in Mr. Andrews’s present position.
D. Because he wanted to hire Mr. Andrews. 7
**2. [1]
(1) A. On the first floor. B. On the second floor.
C. On the third floor. D. On the fourth floor.
(2) A. A hotel. B. Old people’s home.
C. A museum. D. A fire department.
(3) A. A newspaper reporter. B. The owner of the building.
C. A cigarette smoker. D. The head of the fire department.
** 3 [1]
(1) A. A large, new car. B. A fast, old car:
C. A slow, old car. D. A fast, small car.
(2) A. He often paints pictures in black.
B. He paints very colorful pictures.
C. He paints pictures with only a few colors.
D. He never paints beautiful pictures.
(3) A. Five. B. Six. C. Seven. D. Eight.
w4, [1]
(1) A. In Baton Rouge. B. In Atlanta.
C. In Dallas. D. In New York.
(2) A. Smoking cigars. B. Drinking Whisky.
C. Smoking a pipe (4H3}). D. Smoking cigarettes.
(3) A. 3242. B. 3224. C. 2334, D. 3442,
**5. [1]
(1) A. They were freed by an old lady. " B. Through the carelessness of their keeper.
C. By pretending to be asleep. D. By opening the cage with the key.
(2) A. To a nearby meadow (EE}h). B. To the trainer’s house.
C. To an elderly lady’s house. D. To a nearby zoo.
(3) A. Because she liked lions.
B. Because she was fearless.
C. Because the trainer told her not to be afraid.
D. Because she thought the lion was a big dog.
g@ &1 38 i K2 A
»%6. [1]
(1) A. The use of the library facilities. B. The library regulations.

The librarians. D. The location of the library. .
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(2) A. Book publishers. B. The professors.
C. The graduates. D. New university students.
(3) A. Half a million. B. Five million.
C. Three million. D. Over a million.
7. [1]
(1) A. She felt tired of it. B. She loved it more and more.
C. She was interested in it. D. She thought it was too thin.

(2) A. Alice told Rose her baby sister gained two kilograms in a week.
B. Alice told Rose her baby sister weighed 200 grams that week.
C. Alice told Rose she did not want to talk about her baby sister any more.
D. Alice told Rose her baby sister was 200 grams heavier than it was the previous week.

(3) A. Her neighbour’s boy. B. A baby elephant.
C. Her own sister. D. A baby monkey. -
8. [1]
(1) A. In the 19th century. B. In 1940.
C. In 1914. D. In more than 10 years.

(2) A. Because they wanted to develop that country.
B. Because they wanted to remove the earth.
C. Because they wanted to show the Americans’ interest.
D. Because they wanted to shorten the sailing distance between the Atlantic and the
Pacific Oceans.
(3) A. Because the Americans liked this place.
B. Because this place is quite narrow.
C. Because this place is full of earth.

D. Because this place is extremely wide.

(1) A. The Oakland Airport. B. Their school.
C. The students and a youth project. D. A businessman.

(2) A. They forget to add the coffee.
B. They drop hot coffee on customers.
C. They give the wrong change to customers.
D. They add too much flavor.

(3) A. Because the coffee is not worth the money.
B. Because sometimes the cafe is not open.
C. Because they can’t afford to pay for the coffee.
D. Because they have missed their flight.

% 10. [1]
(1) A. 18 10 100. B. 80 to 1,000.
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C. 80 to 100. ’ D. 8 to 1,000.

(2) A. Because the drivers pay no attention to the stoplights.
B. Because the police have to write so many tickets.
C. Because the police have to put cameras at the intersections.
D. Because they cause about 1,000 accidents a year.

(3) A. To write as many tickets as possible.
B. To stop cars from running red lights.
C. To see the pretty scenery in the streets.
D. To take pictures of people in the streets.

;@ B HHER

11 [1.5])

(1)

(2)

(3)

A.
B.

12, [1:5]

(1)

(2)

(3)

A.
B.

DO ®EDOWE IO

SowEo0®m>Un

Mother’s Day is celebrated in a lot of countries.

All countries celebrated Mother’s Day on the same day.
Different countries may celebrate Mother’s Day in different ways.
Churches hold special service to celebrate Mother’s Day.
On the second Sunday in February.

On the last Sunday in February.

On the first Sunday in February.

On the second Sunday in May.

Hold flower shows.

Take their mothers to church.

Do everything their mothers want them to.

Buy some gifts for their mothers or free them from housework.

Her husband had got a higher position.
Her husband had lost his job.

She wanted to have a cleaner house.

She wanted to move to New York.

His telephone went out of order.

The buyers had to leave soon.

He began to work at 8 a. m.

He had made an appointment with her at 8 a. m.
They considered her lazy.

They saw something they had never seen.
They considered her foolish.

They saw something familiar to them.
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(1) A. They deliver things more quickly.
B. They are much cheaper.
They are more convenient.
They have better services.
(2) A. Air service.
Filling out forms for customers.
Delivering packages free of charge.
Picking up packages.
(3) A. They will charge you more.

They will give the service charge back.

OCWFETO®HETO

They will return the package to you.

o

They will reduce the delivery fee.

(1) A. Your eyesight. B. Your driving.

C. Your car’s mechanical condition. D. Your knowledge of traffic regulations.
(2) A. To practise driving with an experienced driver.
B. To drive under normal highway condition.
C. To have the right to be checked by the license office.
D. To use it as an identification card.
A. The license office provides the tests vehicle.
B. The examiner shows how to start, stop and park.
C. The examiner watches you driving in your car.
D. The test is carried out when there is no traffic.
%15, [1.5]

(1) A. It gets its water from the ocean. It’s a little saltier than the ocean.

C. It’s far from the ocean.

(2) A. The lake is too deep.
C. The water held up the speaker.

It’s larger than any state.
The speaker was too heavy. -

The speaker’s eyes hurt.

O wo®DOW

(3) A. Interesting. Painful.
C. Useful. Surprising.
»16. [1.5]
(1) A. Love. B. Wealth. C. Success. D. All of them.

(2) A. He would refuse the invitation.
B. He would go in, and the other two would follow him.
C. He would go in, and the other two would stay out.
D. He would go in, but the other two would be unhappy.
(3) A. The wife was kind.
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B. The husband was greedy.
C. The daughter was spoiled by her parents.
D. The three men generally didn’t go into a house together.

(1) A. Average tuition costs increased by 9 percent.

B. Average tuition costs increased by 15 percent.

C. Average tuition costs increased by 90 percent.

D. Average tuition costs increased by 150 percent.
(2) A. By $150. B. By $2,150.

C. By $6,750. D. By $5,300.
(3) A. They must pay more than out-of-date students.

B. Only a few are accepted.

C. They can’t get scholarship at state universities.

D. Their scholarships were very small.

(1) A. The weather. B. The time.
C. Sports. D. Traffic.
(2) A. About 4 p.m. B. About 6 p. m.
C. About 8 p. m. D. About 10 p. m.
(3) A. To explain a misunderstanding. ~ B. To change people’s opinions.
C. To make people laugh. D. To give a warning.
¥ 19. [1.5)
(1) A. The advantages of refrigeration. ~ B. Cooking food in the summer. ‘
C. Food spoilage in the summer. D. Fun in the summer.
(2) A. Cookies. B. Chicken.
C. Eggs. D. Ice cream.
(3) A. Eat it immediately. B. Try a little.
C. Throw it away. D. Cook it thoroughly.
¥ 20. [1.5]
(1) A. In a museum. B. At an exhibition.
C. At a college. D. In a food industry factory.
(2) A. Europe. B. South America.
C. Spain. D. England.

(3) A. Milk solids only with vanilla.
B. Raw chocolate mass. ‘
C. Chocolate mass and milk solids with sugar, cocoa butter and vanilla.

D. Chocolate mass solid with milk.



